M E R 8A T4 AERE 20258  * HEBIRETT
B TP A At RN B A e B DA Sl A 2R B P R A D el A 2R B i 2
m A Bff| 218 (K) | 228 (&) | 238 (LX) | 258 (A)|268H (K) | 288 (K)| 298 (%) |308 (L)
X 1R — — —
B2 5kg |29 1800 | 0| 2% 1300 500 (7% 1300 44,
TRAFAR| 138|120 100 o [0 90 |10 w0
= I kg | 130 2o | 20 o |20 N
roEQDY | 1A — — —
LESY kg | 30 _ _
T R P R T —
WAITA kg — — —
0w 1kg — — —
B = R — — —
E 6T | ke |® 80 o] 80 | 80
B kg [ 190 80 — —
* £ A | lkeg - — —
= kg |80 I T 200
IR AT 100 50 1'% 50 o' 50
1kg‘£§ 1000 300 1000 300 1000 300
e 100g | 120 0|2 0|2 0
200g | 2% o] 2% co| 2% 0
HsHC 100g | °° a5 | a5 | ° -
ADE 100g | °° a5 | ° a5 | 25




Y E TR 8H T4 BRESE 20258  «HEBBkETT
EAE PE ZE Sl Pl ZE S P A SE Pl ZE S PE A SE Pl ZE S PE AE S Pl ZE S P A
T £ BEf | 218 (K) | 228 (£)| 238 (x) | 258 (A) | 268 (X)) | 288 (K)|298H (&) | 308 (%)
460 480 480
CEEI kg 350 5q 350 o 350 oq
450 500 650
Siall vg S 200g — — —
#oOF kg |289 200 ., (289 200 4289 200 -,
o —n 90 920 20
R 300 380 380
B Tkg 100 100 100
380 450
SAT kg — 100 200
oF/LYk | 1kg — — —
530 500 520
= K kg 100 100 130
DB 3000 2800 3000
HIS 1500 1500 1500
2000
O)\ 1000 - _
JILA Ls 700g — — —
B £ 400g — — _
S 200 200 200
7 )L—~1)— | 100g 100 100 100
TN 1kg — — _
FAXHS | 1ke — — —




B AR 8H Hf] EAERE 20258  «HBBIEETT
o A A= L o 1= M 1= [ O o A = 1= M 1= M 1 2 O A = L= = 1= M [ 2 R i = [ = 1= = 2 A = M~ L
A £ B4 | 118 (A) | 128 (k) | 168 (A) | 188 (A) | 198 (W)
O B — — — —
1300 1300 1500 1500 2300
Skg 1000 0, 1000 40, 1200 50, 1200 0, 2000 g4
P 120 120 130 130 120
FRINSHZR| 1% 100 4, 100 ¢, 100 ¢, 100 4, 100 ¢,
100 130 130 130 130
IR kg 20 20 20 20 20
k'O | 1K — — — — _
- 30 30 30 30 30
LESY 1kg 10 10 5 10 10 10 5
o 150 200 250 300
DIDE 17K 100 100 200 450 150 —
WAIFA | 1ke _ _ _ _ _
€Ay 1kg — — — — —
¥ = | = _ _ — _ —
80 80 80 100
E % ZF 1kg 50 4 50 4 50 5 — 5 1o
120 120 120 120
E A= kg 100 100 100 100 o _
200
= 700 700 800
E ¥ ke 500 — 500 — 500
1002 | 50 |1 s0 |1 s0 |70 s0 | 50
HEODY
o 1000 1000 1000
g2 — — 300 300 300
120 120 120 120 120
- 100g 80 80 80 80 80
2005 | 200 200 200 200 200
g 150 150 150 150 150
o 50 50 50 50 50
EHT 100g 35 35 35 35 35




B AR 8H Hf] EAERE 20258  «HBBIEETT
o A A= L o 1= M 1= [ O o A = 1= M 1= M 1 2 O A = L= = 1= M [ 2 R i = [ = 1= = 2 A = M~ L
A £ B4 | 118 (A) | 128 (k) | 168 (A) | 188 (A) | 198 (W)
. 50 50 50 50 50
ADE 100g 35 35 35 35 35
7 I kg | *°0 350 ;|90 380 ,,|*%0 300 ,,|*0 350 ,,[*%0 350 |,
450 450 450 450 450
s—t<F | 200g| % 150 150 150 —
WmoF 1kg | 280 200 50 280 500 80 280 90 80 280 500 10 280 500 10
S, 170 110 100 90 90
F—<y 150g 60 4 60 4 60 4 60 44 60 4
- 380 350 300
B Tkg — — 100 100 100
A 1kg — — — — _
A " 350 350 350 300 250
/LIl | Tke 50 100 100 100 100
800 800 600 600 550
= K kg 200 200 200 150 100
DB 4000 4300 4500 3000 3300
HIS 1500 1500 1500 1500 1000
O A |1500 2000 2000 2000 2000
1000 1000 1000 1000 1000
LS L 700g —_ — _ — —
SRS 400g _ — _ _ _
— 250 250 280 250 200
J)L—~1)— 100g 180 180 180 100 100
FroN)L | 1keg — — — — —
FAYHS | ke — — — — —




